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  بسم االله الرحمن الرحيم
Physics and Astronomy Department 

College of Sciences-King Saud University 
104 Phys, Second Midterm Exam, First Semester 9/11/1426 H  

    :الرقم الجامعي            :اسم الطالب

  :الشعبة          :عضو هيئة التدريساسم 

 
Constants: k= 9×109 N.m2/C2, εo = 8.85 × 10-12 C2/ N. m2, |e| = 1.6 × 10-19 C 
mp = 1.67 × 10-27 kg,  me = 9.11 × 10-31 kg, g = 9.8 m/s2, μo = 4π × 10-7 T.m/A 
           
 

 Exam Duration: One hour and a half                      ساعة ونصف                      : مدة الامتحان
  Choose the Correct Answer                                                                   لصحيحةاختر الإجابة ا

 
Q1- When an insulating material, with a dielectric constant K=3, is inserted between the 
plates of a capacitor whose capacitance equals Co, what is the new capacitance, C? 
 

   تساويCالجديدة   فإن قيمة السعةCo بين لوحي مكثف سعته K= 3 عند إدخال مادة ثابت عزلها -١س
 

a- 1/9 Co  b- 1/3 Co  c- 3Co   d- 9Co   
                

Q2- If the stored energy of a capacitor, disconnected from the electric circuit, equals Uo, 
what is its stored energy, U, after inserting a dielectric material, whose K = 5, between its 
plates?   
 

فما قيمة ،  Uoتساوي )  ثابتةQالشحنة (إذا آانت الطاقة المخزونة في مكثف غير مربوط بمصدر آهربائي  -٢س
 ؟K= 5اوي  إذا وضعت مادة عازلة لها ثابت عزل يسUالطاقة المخزونة 

 
a- 5 Uo   b- 25 Uo  c- 1/5 Uo  d- 1/25 Uo 

 

Q3- For a capacitor having C = 6 μF, d = 0.07 mm, and a dielectric material with  
Emax = 14 × 106 V/m, what is the maximum charge that can accumulates on its plate? 

 

  ها  وتفصل لوحيه مادة عازلة سمكC = 6 μF مكثف سعته  ما هي أقصى شحنة يمكن وضعها على-٣س
 d = 0.07 mm   هازلع قوة(وشدة عزلها (Emax = 14 × 106 V/m؟  

 
a- 5.9 × 10-3 C  b- 1.2 C  c- 5.9 C  d- 1200 C 
 
Q4- A group of electrons (106 electrons) passes through an area during 20 ns, what is the 
electric current passing that area? 

  
   تساويمن خلال سطح معين في فترة زمنية ) إلكترون ١٠٦عددها يساوي ( آمية من الالكترونات تمر -٤س

t = 20 ns  .ما هي شدة التيار الكهربائي المارة خلال السطح؟  
  

a- 8 mA  b- 8 μA  c- 8 nA   d- 8 pA 
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Q5- The resistance of a segment of a gold wire (α = 3.4x10-3 oC-1) is 80 Ω at room 
temperature (25 oC). When the wire is placed in a liquid bath, the resistance increases to 
90 Ω. What is the temperature of the path? 
 

 عند  R = 80 Ω هذا السلك  آانت مقاومةإذا ،Ω 90 سلك من الذهب في سائل فارتفعت مقاومته إلى وضع -٥س
 فما هي درجة حرارة  α = 3.4x10-3 oC-1ومعامل المقاومة الحراري للذهب  (T = 25 oC)ة درجة حرارة الغرف

  السائل؟ 
  

a- 4.25 × 10-4 oC b- 36 oC  c- 61.8 oC       d- 2.35 × 103 oC 
 
Q6- An electric current (I = 3 A) passes through a resistor creating a voltage difference of 
100 V, what is the energy delivered to the resistor during 5 seconds, using the unit Joule? 
 

 فما قيمة الطاقة ،V = 100 V، في سلك مكوناً فرق جهد على طرفيهI = 3 Aإذا مر تيار آهربائي مقداره  -٦س
 ؟ الجولحدة ثوان بو٥المستهلكة في السلك خلال 

 
a- 33.33  b- 166.66  c- 300   d- 1500  
 
Q7- What is the equivalent resistance of the resistors, between a and b, in the figure 
shown below? 
 

 ؟b وa احسب قيمة المقاومة المكافئة لمجموعة المقاومات في الرسم أدناه بين -٧س
  

5 W

6 W

3 W

18 W

6 W

3 W

a b

 
 

a- 0.8 Ω  b- 2.87 Ω   c- 8.8 Ω   d- 41 Ω 
 
Q8- Calculate the value of the electric current I2, in the electric circuit shown below, 
knowing that the capacitor is at the equilibrium state? 
 

) الاستقرار(قد وصل مرحلة الاتزان ،  أدناه الدائرة الكهربائية الموضحة بالرسميف، إذا علمت أن المكثف -٨س
   ؟I2احسب قيمة التيار الكهربائي ف

 

I1

I3

I2

10 V

25 Fm 4 W

4 W

6 W

 
a- 0.7 A  b- 1 A   c- 1.25 A  d- 2.5 A 
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Q9- An electron is moving with a speed of 5 × 105 m/s, making an angle of 30 o with a 
magnetic field of 5 T.  Calculate the magnitude of the electron acceleration due to the 
magnetic force? 
 

 مع o 30 ويصنع زاوية B = 5 Tمن خلال مجال مغناطيسي مقداره  m/s 105 × 5بسرعة إلكترون يمر  -٩س
  من ذلك اوجد مقدار التسارع الناشئ من القوة المغناطيسية؟ ،  اتجاه حرآة الجسم

 
 
a- 2.2× 1017 m/s2 b- 3.8 × 10-13 m/s2 c- 4.4× 1017  m/s2 d- 2 × 10-13 m/s2 
 
 
Q10- What is the value of the magnetic force acting on the wire shown in the figure 
below, knowing that the magnetic field is uniform? 
 

  ؟اًمنتظمإذا آان المجال المغناطيسي ، أدناهالموضح بالرسم ، لسلك ما مقدار القوة المغناطيسية المؤثرة على ا-١٠س
 

B = 2 T

I =
 2 

A

 0.
8 m

57 O

 
 
a- 1.6 N  b-  1.7 N   c- 2.7 N  d- 3.2 N 
 

  مع تمنياتنا لكم بالتوفيق
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Physics and Astronomy Department 

College of Sciences-King Saud University 
Phys 104, Midterm Exam #2, Second Semester 21/4/1427 H  

    :الرقم الجامعي            :اسم الطالب

  :الشعبة          :اسم عضو هيئة التدريس

 
k= 9×109 N.m2/C2, εo = 8.85 × 10-12 C2/ N. m2,    |e| = 1.6 × 10-19 C,        G = 6.67 × 10-11 N.m2/kg2 
mp = 1.67 × 10-27 kg,  me = 9.11 × 10-31 kg, g = 9.8 m/s2, μo = 4π × 10-7 T.m/A  
           
Choose the Correct Answer   Exam Duration: One and a half Hours  
All Answers are given in MKS units                            جميع الحلول معطاة بالوحدات الدولية القياسية 

  
 

 : الطاقة المخزونة في المكثف تساوي-١س

10 V

2 μF

 
 

A) 10-2   B) 10-4    C) 2×10-2  D) 2×10-4 

  :ساويي مربع الشكل  للمادة بين لوحي المكثفk ثابت العزل -٢س
  

2 nC 2 cm

5 V0.1 mm

Dielectric 
Material

  
 

A) 11.35  B) 22.7  C) 34.05  D) 45.4 
   و مساحة مقطعة  m 20 طوله موصل اسطوانيعلى طرفي   V 2مقداره  فرق جهد  سلط-٣س

 0.2 mm2،  إذا مر فيه تيار آهربائي للموصلما مقدار المقاومة النوعية I = 0.2 A؟    
  

A) 10-3   B) 10-7   C) 2×10-3  D) 2×10-7 

 نتيجة لارتفاع A 5  إلى  A 20المار في مقاومة من  ،مع بقاء جهد المصدر ثابتا،  التيار الكهربائي إذا نقص-٤س
 ؟(α)فما مقدار المعامل الحراري للمقاومة النوعية  o 150 C بمقدارادرجة حرارته

  
A) 1/50   B) 1/25  C) 1/5   D) 1/2 

 ة السعوديتالريالاملايين ب ) يوم٣٠ (ما هو الدخل الشهري، MW 450 يبلغ إنتاج محطة نووية من الكهرباء   -٥س
 ؟ ريالا سعوديا 0.1يساوي   kWhلهذه المحطة إذا آان سعر الكيلووات ساعة 

  
A) 8.1   B) 16.2  C) 24.3  D) 32.4 
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  ؟Rة  فما مقدار المقاومW 180تساوي  I = 3 A إذا آانت القدرة المستهلكة في مقاومة يمر فيها تيار -٦س
  

A) 60   B) 40   C) 20    D) 10   
  ؟R = 2 Ω في المقاومة  الكهربائي ما مقدار التيار-٧س
  

15 V5 W

2 W

10 V

4 V

  
 

A) 7   B) 5   C) 3   D) 2 
 L على سلك مستقيم طوله B من مجال مغناطيسي شدته ة الناشئF  العلاقة التي تربط بين القوة المغناطيسية-٨س

  :  هيI  شدته فيه تيار آهربائيويمر
  

A) I (B • L)  B) I (B × L)  C) I (L • B)  D) I (L × B) 
ما ،  B = 4 mT خلال مجال مغناطيسي عمودي على اتجاه الحرآة   m/s 50000 يتحرك إلكترون بسرعة -٩س

 مقدار تسارع الإلكترون؟
 

A) 3.51×10+13  B) 19.15×10+15 C) 3.2×10+17  D) 0 
 و المجال m = 0.1 gm اآتلته إذا علمت أن، T = 5 m sec بزمن دوري ة مشحونحبة رمل تدور -١٠س

  ؟ الكهربائية عليهاشحنةال فما هي B = 10 Tالمغناطيسي العمودي على الحرآة 
 
A) 12.56×10-12 B) 12.56×10-9  C) 12.56×10-6  D) 12.56×10-3 
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, 

m
p

= 1.67 x 10·27 kg,
80 = 8.85 x 10·12 c2! N. m2

, !el= 1.6 x 10·19 C,

me
= 9.11 x 10·3 ! kg, g = 9.8 mls2, 

G = 6.67 x 10·11 N.m2!kg2 
µ0 = 4n x 10·7 

Tm/A

Choose the Correct Answer

All Answers are given in MKS
unless the unit is stated 

Exam Duration: One and a half Hours 

:Lf.J� ;;_,__,l..h;ll � (j� 500 nF Lf.J\.;;., �I.,!�\ rlbll 6 c::.u\S. 1:ii -10" 
Ql- If the capacitance of the system is 500 nF, then the battery voltage equals: 

A) 25 f( B) 101 __ . _ C) 1 D) 0.04 
:Lf.Ji.....;:, 20 m" l.p... JS "-::..lu....J 2 cm :Ulu... � c.J±:jlfa L!:i-") c.f':i ......:&. 6 -20" 

Q2- The capacitance of two parallel metallic plates, separated by 2 cm, and having area 
of 20 ni

2 each i�: 

B) 8.85 pF C) 100 mF D) 100 µF 
:Lf.J\.;;., b .J a� wu:&.11 � � :i..'.is\S..J\ �I u� 3 C Lf.J\.;;., ......:&. JS 6 c::.u\S. \':,) -3t.>"

Q3- If each capacitor is 3 C, the equivalent capacitance between a and b equals: 

I� 

a I J-b 

A) 1.6 C B) 30 C 

::r:: 

o..i\.Jl Jj-JI Wei.:; u� � .w; ,�','\ __,1..iiJI L.I" % 120 .)1 •r. �-
D) 20 C 

tJS'"• � � � L.i" .Jj\.c. o..i\... ucjl -4t.>"
:Lf.Jl...; .JjWI 

Q4 - A dielectric material is taken away from a charged capacitor, and then the voltage 
across it increases to 120% of the original value. Accordingly, the dielectric constant of 
this material is: 

A) 1 B) 1.4 C) 1.1 ��-� 

- 1 -
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Physics and Astronomy Department 

College of Sciences-King Saud University 
Phys 104, Midterm Exam #2, Second Semester 29/6/1434 H 

    :الرقم الجامعي            :اسم الطالب

  :الشعبة          :اسم عضو ھيئة التدريس

 
k= 9×109 N.m2/C2, εo = 8.85 × 10-12 C2/ N. m2,    |e| = 1.6 × 10-19 C,        G = 6.67 × 10-11 N.m2/kg2 
mp = 1.67 × 10-27 kg,  me = 9.11 × 10-31 kg, g = 9.8 m/s2, µo = 4π × 10-7 T.m/A  
           
Choose the Correct Answer   Exam Duration: One and a half Hours  
All Answers are given in MKS                             
unless the unit is stated  

  :يساوي ns 40بروتون خ�ل  500التيار النأشئ عن مرور  - 1س
Q1- The electric current due to the passing of 500 protons during 40 ns is:  

 
A) 40 A  B) 2 nA   C) 0.4 mA  D) 20 µA 

  :فإن كثافة التيار تساوي  cm 10بموصل اسطواني قطره   A 10إذا مر تيار كھربي قدره  - 2س
Q2- If electric current of 10 A passes through a cylindrical conductor having a diameter 
of 10 cm, the current density equals: 
  
A) 10   B) 3148   C) 1274  D) 100   

  ؟ A 5عند مرور تيار كھربي بھا قدره  Ω 50 مة قدرھامقاو ما مقدار الجھد الكھربي على طرفي - 3س
Q3- What is the electric potential across a resistor of 50 Ω when a current of 5 A passes 
through it? 
 
A) 250   B) 500    C) 10   D) 0.1 

  :مع عكسياتتناسب كثافة التيار الكھربي في مادة  - 4س
Q4- The current density in a material is inversely proportional to: 
 
A) Conductivity B) Electric Field  C) Resistivity  D) Volume 

مقدار المقاومة فما  Ω 10نتيجة ربطھا بمقاومة حمل قدرھا  A 0.142يبلغ  V 1.5إذا كان التيار النأشى عن بطارية قوتھا الدافعة   - 5س
  ؟الداخلية للبطارية

Q5- If a battery of 1.5 V is connected to a resistor of 10 Ω and the current is 0.142 A, 
what is the internal resistance of the battery? 
 
A) 10   B) 11    C) 0.28  D) 0.56 

  ؟Ω 1كل مقاومة يساوي  إذا كان مقدار  bو  aما مقدار المقاومة المكافئة لمجموعة المقاومات في الرسم بين  - 6س
Q6- What is the equivalent resistance of the resistors, in the circuit, between a and b if 
each resistance is 1 Ω? 

a
b

 
 
A) 1.08  B) 0.73   C) 7   D) 0.143 
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لكل درجة مئوية  0.02نتيجة تسخينھا، إذا كان معامل درجة الحرارة للمقاومة يساوي   R 5إلى  Rإرتفعت مقاومة مادة موصلة من  - 7س
  فما مقدار الزيادة في درجة الحرارة؟

Q6- If the resistance of a conductor increases from R to 5 R due to heating, what is the 
temperature increase, knowing the temperature coefficient of resistivity to be 0.02 /oC ? 
 
A) 250   B) 200    C) 150   D) 100 

ریال، فإن  0.05وسعر الكيلووات ساعة يساوي   MW 54000  يبلغ في المملكلة العربية السعودية طاقة البديلةالاج إذا كان معدل إنت - 8س
  :يساوي )بالمليون ریال(الطاقة المنتجة  ت من بيع كلللمفاع	 )يوما 30( الدخل الشھري

Q8- If the Saudi alternative energy program produces 54000 MW , and one kWh costs 
0.05 SR.  The monthly income of the program due to selling all the produced energy (in 
Million Riyals) equaled: 
 
A) 1944  B) 540    C) 160   D) 3427 

  :يساوي Ω 4التيار المار خ�ل المقاومة  فإن اتعند اكتمال شحن المكثف - 9س
Q9- At equilibrium, the current passing through the resistor of 4Ω equals: 
 

10 V 5 Ω

16 Ω 4 Ω

20 V

8 Ω

5 nF

3 nF

 
 

A) 2.5   B) 0.5    C) 0.4   D) 0.3 
  :تساوي A 3فإن القدرة عند مرور  Pتساوي  A 10إذا كانت القدرة المستھلكة في مقاومة يمر بھا  - 10س

Q10- If the power delivered to a resistor having 10 A is P, the power when the current is 
3 A equals: 
 
A) 0.33 P  B) 0.09 P   C) 3.33 P  D) 11.1 P 

  :تساوي Bمحصلة مجالين مغناطيسين متعامدين قدر كل منھما  - 11س
Q11- The result of two perpendicular magnetic fields of the same magnitude B is: 
 
A) 2 B   B) 0    C) 1.41 B  D) 0.7 B 

  :باتجاه عمودي على المجال بقوة قدرھا m/s 50تتحرك بسرعة   nC 10شحنة قدرھا  على T 20مجال مغناطيسي شدته  يؤثر - 12س  
Q12- A magnetic field of 20 T is acting on a charge of  10 nC  having a velocity 50 m/s 
perpendicular to the field with a force of: 
 
A) 10 -5  B) 0    C) 0.005  D) 0.0005 

فينشأ عليه قوة  T 3بمجال مغناطيسي عمودي عليه قدره  A 100يحمل تيارا كھربائيا قدره  طوله متر واحد يتأثر موصل مستقيم - 13س
  :قدرھا

Q13- A straight wire carries electric current of 100 A.  If the wire is 1 m long and is 
exposed to a perpendicular magnetic field of 3 T, the induced force due to that is:  
 
A) 0.003  B) 0.03   C) 33.33  D) 300 

  :مقدار السرعة للجسم المشحون تساوي نسبة المجال الكھربي إلى في جھاز منتخب السرعة - 14س
Q14- In the velocity selector, the particle speed equals the ratio of the electric field to: 
 
A) Electric Potential B) Magnetic filed  C) Time  D) Length  

  :إذا زاد طول ملف سولينويد إلى الضعف وكذلك عدد اللفات الكلي إلى الضعف مع بقاء التيار ثابتا فإن المجال المغناطيسي الناشئ - 15س
Q15- If the solenoid length is doubled and so is its number of turns without changing the 
electric current, the magnetic field will be: 

 
A) the same  B) doubled   C) reduced to half D) increasing 
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  Physical Constant    εo = 8.85 × 10
-12 

 C
2
/ N. m

2
,  |e| = 1.6 × 10

-19
 C,  me =9.11 x10

–31
 Kg 

 

cm 7.60 كل لوح  مكثف متوازي اللوحين  مساحة   (1س
2
فاذا طبق فرق جهد  mm 1.80وتفصلهما مسافة    

 بين اللوحين فان كثافة الشحنة السطحيه للمكثف تساوي:  V 20مقداره 

Q1) A parallel-plate capacitor, each plate have an area of 7.60 cm
2
, separated    by a 

distance of 1.80 mm. If 20 V potential difference is applied to the plates, the 

surface charge density for the capacitor equals:   
 

A.  10.2 x10
6
   B.  98.3 x10

– 9
  C. 1.4 x10

– 6
    D.  10

– 6
            

--------------------------------------------------------------------------------------------------- 

مكثف متوازي اللوحين ثم فصل من مصدر الجهد، فاذا زيدت المسافه الفاصله بين اللوحين الى  شحن ( 2س

 الضعف، فان الطاقة المخزنة بالمكثف تصبح:

Q2) A parallel-plate capacitor is charged and then disconnected from the battery. If the 

plate separation is doubled, the stored energy is:   

  

       A. Unchanged      B. Doubled         C.  Halfed     D.   Zero           

--------------------------------------------------------------------------------------------------- 

 تساوي:  a ،bالنقطتين  بين فان السعة المكافئة  C1 = 6  μF ، C2 = 3 μF ،C3 = 2μF إذا كان( 3س 

Q3) If C1 = 6  μF, C2 = 3 μF, and C3 = 2μF, the equivalent 

capacitance between points a and b equals:   

A. 11 µF               

B.  3 µF   

C.  2.4 µF              

D. 1.3 µF   

--------------------------------------------------------------------------  

 

 



 

 

--------------------------------------------------------------------------------------------------- 

الفضاء بين   ملئ فاذا μm 40وتفصلهما مسافة    cm2 1.75 هلوحمكثف متوازي اللوحين  مساحة ( 4س

 فان سعة المكثف تساوي: ، (k = 2.1 )اللوحين بمادة التيفلون 

Q4) A parallel-plate capacitor with a plate area of 1.75 cm2 and plate separation 

of 40 μm.  If the space between the plates is filled with Teflon  

    ( k = 2.1),  the capacitance of the capacitor equals:  
 

A.  9.18    B.  38.7x10– 12           C.  18.4 x10– 12            D.  81.3 x10– 12     

--------------------------------------------------------------------------------------------------- 

 يساوي:  s 50خلال  التي تعبر مقطع الموصلعدد الإلكترونات فان   ،في موصل  mA  32مر تيار  إذا( 5س

Q5) In a conductor, if the current is 32 mA, the number of electrons passing a 

cross section of the conductor during 50 s equals:  
 

  A.  10
19

   B. 1.6x10
19  C.  1.6x10

–19  D 512 x10
15 

--------------------------------------------------------------------------------------------------- 

 50 درجة حرارته بمقدار  نخفاضعند ا Ω 60إلى  Ω 40تغيرت مقاومة سلك من  إذا( 6س
o
C  معامل فان 

 يساوي:   (α) الحرارة مع درجة  لمقاومة النوعيةا تغير        

Q6) If the resistance of a wire changed from 40 Ω to 60 Ω when its temperature 

decreased by 50 
o
C, the temperature coefficient of  resistivity (α)  equals: 

 

A.  10 10
 -3

/
o
C      B. ˗ 10 10

 -3
 /

o
C        C.  7 5 10

 -3
 /

o
C             D. ˗ 75 10

 -3
 /

o
C           

--------------------------------------------------------------------------------------------------- 

 = 2.4 10)سلك من الذهب  داخل V/m 0.96 مجال كهربي قدره وجدإذا  (7س
 -8

   Ωm)  لتيار ا، فان كثافة 

 في السلك تساوي:   

Q7) If an electric field of 0.96 V/m exists in a gold wire ( =2.4 10
 -8

   Ωm), the 

current density in the wire equals: 
 

A.  25 x106   B.  30 x106   C.  40 x106          D. 50 x106 

--------------------------------------------------------------------------------------------------- 

 فان التيار المطبق اذا تضاعف الجهد الكهربي  .  Rفي دائرة كهربية مقاومتها  2Aيمر تيار كهربي مقداره  (8س

 :يصبحالكهربي المار بالدائره         

Q8) A current of 2A passes in a circuit that has a resistance R. If the applied voltage is  

 doubled, the current in the circuit in this case equals:    

   A. 1              B.  2        C.  3     D. 4    

--------------------------------------------------------------------------------------------------- 



 

--------------------------------------------------------------------------------------------------- 

 :تساوي مدة أسبوع ل  V 220عند جهد  A 1.5     تكلفة إستخدام مصباح كهربي يمر به تيار كهربي  (9س

 هلله (  5تساوي     1kW-h إستهلاك ) بفرض أن تكلفة            

Q9) The cost per week of operating a lamp that draws a current of 1.5 A from 220V.   

(Assume the cost of energy 5 halalah /kW-h).  
 

    A.  SR  0.11   B. SR  2.77  C.  SR  166.2  D. SR  33 

--------------------------------------------------------------------------------------------------- 

 تساوي: R = 5 Ωشدة التيار المارة في المقاومة  في حالة الاتزان  (10س

Q10) At equilibrium the electric current passing through R = 5 Ω equals: 

20 V

 5 

 10 

6  20 V

6 

1mF

6 

 

           A. Zero    B.   0.5 A        C.  1 A    D.  2 A                                                      

--------------------------------------------------------------------------------------------------- 

فان القوة الدافعة  Ω 0.5موصلة بمصدر للجهد مقاومته الداخلية  Ω 5في مقاومه   A 2إذا مر تيار قيمته  (11س

 لمصدر الجهد تساوي: εالكهربية 

Q11) If a current of 2 A passing in a 5 Ω resistor connected to a battery that  has a 0.5 Ω      

          internal resistance, the emf of the battery ε is:   
 

      A. 2.5 V     B. 10 V  C.  11 V   D. 1 V  

--------------------------------------------------------------------------------------------------- 

 يساوي: Ω 50 فان  التيار المار بالمقاومة  b    10 Vوa كان فرق الجهد بين النقطتين  في الشكل المرفق، إذا ( 12س

 Q12) In the Figure, if the potential difference between 

            a and b  is 10 V , the current passing in the  

            resistance  50 Ω  equals:   
           

 A.    0.33  A     B.  0.5 A    

 C.    0.2 A    D.  0.1 A 

--------------------------------------------------------------------------------------------------- 

 

 

 

8 Ω 

50 Ω 



 

--------------------------------------------------------------------------------------------------- 

 مقدار السرعة للجسم المشحون تعطى من العلاقه:في جهاز منتخب السرعة  (13س

Q13) In the velocity selector, the particle speed is given by the relation: 

 

A.  ( E.B )    B.   ( E / B
2
 )   C.  ( E / B

 
)  D.  ( B / E ) 

--------------------------------------------------------------------------------------------------- 

 .موازيا لإتجاه التيار  T 2ويقع في مجال مغناطيس  5Aقدره   اتيار m 3طوله  موصليحمل  (14س

 تساوي: الموصلالقوة المغناطيسية المؤثرة على          

Q14) A conductor 3 m long carries a current of 5A is placed in a region parallel to a  

         uniform magnetic field of 2 T. The magnetic force acting on the conductor equals: 

 

  A. Zero  B. 14 N            C. 15 N   D. 30 N  

--------------------------------------------------------------------------------------------------- 

10 ×5إذا تحرك إلكترون  بسرعة خطية  (15س
3
  m/s   8مجال مغناطيسي  في T نصف فان  ،متعامد مع حركته   

  ساوي: مساره الدائري ي قطر           

Q15) If an electron moves with linear velocity 5× 10
3
 m/s, under a perpendicular  

         magnetic field of  8 T, the radius of its angular path equals:      

           

           A. 5  mm      B. 3.6 nm             C. 1.6 nm   D.  1.4 μm 
 

============================================================= 

قسم الفيزياء والفلك -مع أطيب الأمنيات بالتوفيق    

 :Answer Table                            ضع الإجابات الصحيحة  بالجدول التالي:
 

1 2 3 4 5 6 7 8 

B C B D A B C D 

 

 

 
 

 

 

 

9 10 11 12 13 14 15 

B A C D C A B 
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    Physics and Astronomy Department - College of Sciences  

Phys 104, 2nd Midterm Exam, 2
nd Semester – Sat. 09/7/1437 (16/4/2016) 

 

 ...............................................الرقم الجامعي:         ................................................................ اسم الطالب:

 ...............................................الشعبة:      ...........................................................د/  أستاذ المقرر:

Choose the Correct Answer (4 pages):    Exam Duration: 𝟏𝟐
𝟏 𝐡 

All Answers are given in mks (unless the unit is stated) 

==================================================================== 

 :لىإ تتغير للإلكترونات الانسياقية السرعة فإن، مع ثبات التيار النصف إلى موصل نصف قطر نقص إذا  (1س

Q1) If the radius of a conductor is reduced to one half while the current is remains  

        constant, the drift velocity of the electrons changes to: 
 

  A. 1/4    B. 1/2    C. doubled  D. 4 times 

   -------------------------------------------------------------------------------------------------------------- 
 تساوي: V 20ق فرق جهد يطبعند ت k Ω 3مقاومة بين طرفي   دقائق 10الطاقة المبددة خلال  (2س

Q2) The energy dissipated as heat during 10 min by 3 k Ω resistor when 20 V potential 

difference is applied across its leads equals: 

 

 A.  80 J                      B. 160 J       C.   600 kJ   D.  1.3 mJ  

   -------------------------------------------------------------------------------------------------------------- 

 =1.5x10)من مادة النيكروم  لكس (3س
 ̶ 6

  m) 3مساحة مقطعه mm
2
   

 لوحدة الطول تساوي:  لكسمقاومة ال        

Q3) A Nichrome wire ( =1.5x10
 ̶ 6

  m) of cross-sectional area 3 mm
2
 , the        

       resistance per unit length of the wire equals: 
       
    A.  4.5    /m        B.  1.5    /m    C. 0.5    /m       D.   1   /m       

   -------------------------------------------------------------------------------------------------------------- 
cm 9موصل مساحة مقطعه  (4س

2
  V/m 120مجال كهربي قدره  تيجة وجودن  3Aتيارا يمر به   

 لمادة الموصل تساوي:المقاومه النوعية        
Q4) A conductor wire of cross-sectional area 9 cm

2 
carries a current of 3A produced      

         by an electric field of 120 V/m. The resistivity of the conductor material equals: 
          
          A. 0.018 Ωm        B.  0.036 Ωm       C.  0.072 Ωm         D.  13.3 Ωm  

   -------------------------------------------------------------------------------------------------------------- 
  5Ωوصل طرفيها بمقاومة حمل كليه مقدارها  Ω 1مقاومتها الداخلية و V 12بطارية قوتها الدافعة الكهربية  (5س

 الجهد المطبق على طرفي مقاومة الحمل يساوي:  

Q5) A battery has an emf 12 V and an internal resistance of 1 Ω. Its terminals are 

connected to a load resistance of 5Ω. The terminal voltage of the load resistance equals:  
 

    A.   12 V     B. 10 V             C.   2.4  V    D.  2 V    
   -------------------------------------------------------------------------------------------------------------- 
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   -------------------------------------------------------------------------------------------------------------- 
α = 3.9x10 )مقياس حراري  مصنوع من مادة البلاتينيوم  (6س

 ̶ 3 
°C

-1
إذا غمس ف  C° 20عند   Ω 50مقاومته   ( 

 فإن درجة حرارة الإنديوم المنصهر تساوي:  Ω 77.3 إلى مقاومته زادتفي قاروره بها مادة الإنديوم المنصهر 

Q6) A thermometer is made from platinum ( α = 3.9x10
 ̶ 3 

°C
-1

 ) and has a resistance of 

50 Ω at 20 °C. If it immersed in a vessel containing melting indium, its resistance 

increases to 77.3 Ω. The temperature of the molten indium equals: 
           

          A.   20 °C    B. – 120 °C       C.   140 °C    D.  160 °C    
   -------------------------------------------------------------------------------------------------------------- 

  يساوي:   Ω 3 بالمقاومةفان التيار المار  1Aيساوي   Ω 5 كان التيار المار بالمقاومةلدائرة المرفقة إذا في ا (7س

Q7) In the given circuit if the electric current passing through R = 5 Ω  is 1A,  

      the electric  current passing through R = 3 Ω equals: 

     A.  6 A   B.  3 A      C.  2 A       D.  1 A 

 

20 V

 5 

 10 

 3 
1 

1 
5 V

      
-------------------------------------------------------------------------------------------------------------- 

 ساوي:ت R. قيمة  3R بالمقاومه  A 4مر تيار قدره  ، a & bالنقطتين بين  V 20إذا طبق فرق جهد ( 8س

ba

R

3 R

R

R
R

R

 

Q8)  If a potential difference of 20 V is applied between the two points a & b, a current  

         of 4 A passes through the resistance 3R.  The magnitude of R equals:   
 

  A.  5 Ω     B.  2.5 Ω   C.  1.3 Ω    D.  1 Ω       
-------------------------------------------------------------------------------------------------------------------------- 

 ثوابت فيزيائية
 

K =  9×10
9 
N.m

2
/C

2
,         εo = 8.85 × 10

-12
 C

2
/ N. m

2
,            μo = 4π × 10

-7
 T.m/A  

|e| = 1.6 × 10
-19

 C,           me = 9.11 × 10
-31

 kg,                      mp = 1.67 × 10
-27

 kg  
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-------------------------------------------------------------------------------------------------------------------------- 

 يتحرك بروتون  في مسار دائري عمودي على مجال مغناطيسي منتظم.  إذا كان زمن الدوره الواحده ( 9س

 فان قيمة المجال المغناطيسي تساوي:  μs 5للبروتون        

Q9) A proton is moving in a circular path perpendicular to a constant magnetic field.   

       If it takes 5 μs to complete one revolution, the magnitude of the magnetic field equals: 
 

A. 10 mT                   B.  13.1 mT       C.  65.5 mT    D. 80 mT   

-------------------------------------------------------------------------------------------------------------------------- 

 في مسار دائري عمودي على مجال مغناطيسي    vبسرعه خطيه  qوشحنته  mجسيم مشحون كتلته تحرك ي( 10س

 الدائري يعطى من العلاقه:نصف قطر المسار .  Bمقداره  منتظم        

Q10) A charged particle of mass m and charge q moves with a linear speed v in a  

          circular path perpendicular to a magnetic field B. The radius of the circular path  

          is given by the relation: 
 

A. mv/qB                  B. mvqB     C.  qB/mv   D. qvB/m 

-------------------------------------------------------------------------------------------------------------------------- 

 اذا كانت   .في مجال مغناطيسي منتظم عمودي عليه A 50ويحمل تيارا  m 10سلك مستقيم طوله  وضع( 11س

 فان قيمة المجال المغناطيسي تساوي:  N/m 4على السلك  المؤثرةلطول القوة المغناطيسيه لوحدة ا         

Q11) A straight wire 10 m long carries a current of 50A placed in a perpendicular  

         uniform magnetic field. If the force per unit length acting on the wire is 4 N/m,  

         the magnitude of the magnetic field equals:   
 

A. 10 mT                   B.  13.1 mT       C.  65.5 mT    D. 80 mT   

-------------------------------------------------------------------------------------------------------------------------- 

 م المشحون تعطى من العلاقه:يلجسامقدار سرعة  ،في جهاز منتخب السرعة (12س

Q12) In the velocity selector, the particle speed is given by the relation: 

A.  ( E.B )    B.   ( E / B
2
 )   C.  ( E / B

 
)  D.  ( B / E ) 

-------------------------------------------------------------------------------------------------------------------------- 
 

 قيمة المجال المغناطيس  إذا كانتف turns/m 500وعدد لفاته لوحدة الأطوال  m 2ملف حلزوني طويل طوله ( 13س

 فان قيمة التيار المار بالملف تساوي:  mT 31.4في مركز الملف            

Q13)  A long solenoid of 2 m has 500 turns/m. If the magnetic field at the center of the 

solenoid is 31.4 mT, the current of the solenoid equals:    
 

   A. 50 A               B.  40 A                C.  25 A       D. 100 A   

-------------------------------------------------------------------------------------------------------------------------- 

 

 

 

 



 

P
ag

e 
4

 

-------------------------------------------------------------------------------------------------------------------------- 

  المجال    cm 10تفصلهما مسافة إتجاهين متضادين وفي  A 40ن تيارا ان متوازين طويلااسلكيحمل ( 14س

 المغناطيس الناتج عند نقطة في منتصف المسافة بينهما يساوي:          

Q14) Two long straight parallel wires carries a current 40 A in opposite direction 

and separated by a distance of 10 cm. The magnitude of the resulting magnetic   

          field at the midpoint between the two wires equals:  
 

     A. 320 µT       B. 400 µT         C. 60 mT                D.  Zero             

-------------------------------------------------------------------------------------------------------------------------- 

 القوة المغناطيسية لوحدة الطول بين الموصليين المتوازيين في السؤال السابق تساوي: (15س

Q15) The magnetic force per unit length between the two parallel conductors in the  

          previous question equals:  
 

     A. 1.6  mN/m       B. 2.5  mN/m       C. 3.2  mN/m            D.  Zero             

      

==================================================================  

 قسم الفيزياء والفلك -مع أطيب الأمنيات بالتوفيق                                             

 

 :Answer Table                        :ضع الإجابات الصحيحة  بالجدول التالي

1 2 3 4 5 6 7 8 

        

 

 

 

 

 

 

 

 

 

9 10 11 12 13 14 15 
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Physics and Astronomy Department - College of Sciences 
Phys 104, Midterm Exam 2, 1m Semester 1437-38- Mon. 27/3/1438 H ( 26/12/2016) 

I..:JI ~)I ................................................... :~. ~ ·1..-l.!\..b.ll I ..................................................... ~ 

:~1 ............................................ I.) :.)...;iJI ~\.:i ... J 

Choose the Correct Answer (Exam sheets: 4 pages) Exam Duration: 1~ h 
All Answers are given in mks (unless the unit is stated) 

===========--=================================================== 

:~)WI U.a ~ ~ ulj E 1.5.J~ A~~~ 1.5~ ~_,ill 1.5j\_fu. ~ ~ )e»: ~~\ J4,.JI ut.S I~) (lu-a ... .. ... .. .. 

Ql) If the electric field between two parallel plate capacitor with an area A is E, 
its charge Q is given by the relation: 

A. E0 AE B. E0 E I A D. E0 I (A E) 

:t..j.JL.i:J ~I ~~ ~ b .J a 0:-: ~\S..JI ~I ulj C = 7 !-!F w_j\.S I~) (2u-a 

Q2) If C = 7 !-!F , the equivalent capacitance between a and b in the given figure equals: 

~ 1---r~ 1------1 t-L--r-1 ~ 
3 C 2C 

A. 7 f.lF B. 6 f.lF C. 5 !-!F D. 11 !-!F 
--------------------------------------------------------------------------------------------------------------------------------

. L..;j ~ ·lj 7 nf .U........, 5 C ~ ~ _I • = 80 L I . ~\j 4j 'k, o..)\...a • ~ (3 .l..j.J U .J /-! ~y ~ K ~..)C . _) ~.J u-a 
Q3) When a dielectric material with dielectric constant K = 80 is placed between two 

parallel- plate capacitor of charge 5 !-!C and 7 nF capacitance, its charge equals: 

A. Zero B. 400 !-!C D. 62.5 nC 
--------------------------------------------------------------------------------------------------------------------------------

4.9\..:iS u\..9 7 mm ~)e»: ~WI4.9~1 w_j\.S l~lj 24 V ~ ->~ ~_,lllt..jj\.fu. ~ ~.J (4u-a 
· L.i:J ~w ~ · . .:. -'1 ~\..b.ll .l..j.J • ~ 

Q4) A a parallel-plate capacitor is connected to a 24V battery. If the separation distance 
between the plates is 7 mm, the energy density stored in the capacitor equals: 

A. 52 !-!11m3 B. 52 Jlllm2 

Q) --------------------------------------------------------------------------------------------------------------------------------
b.O 
Ci:S 
~ 



N 
Q) 

:~) ~ ~_,..JI-) ,JWI )~\ ,,)J '~.JA fo ~ ~t....:.:.:i lj) (5u-w 

Q5) If the radius of a conductor is doubled, the current passing through the conductor 
changes to: 

A.l/4 B. 4 times c. 1/2 D. doubled 

:~.J~ oAI.J ~~ J)l;,. ~yJI ~ __r.uW ~~ ~::.A.i.Jfi"'' ~~ ut! '~.JA-) 2 A .J\..jj Y ljJ (6u-w 
Q6) If a current 2 A passes in a conductor, the number of electrons passing through the 

conductor cross section during 1 min. equals: 

18 A. 12.5x 10 B. 1.6x1 019 C. 750x 1018 D. 120 

~L....JI ut! 155 oc o)~ ~_)~ .l.ic. 70 n .J 25 ac o)~ ~.)~ .l.ic. 20 n ~.JA ~.J\.i.a ..::..ul.S ljJ (7u-w 
:~.J~ ~_,.JI o~w ~)yJI 

Q7) If a conductor has resistance of 20 n at 25 o C and 70 n at 15 5 o C, the temperature 
coefficient of the conductor material equals: 

A. 52 oc-1 D. 19.2x10-3 oc-1 

:~ y~_;.b ~_;.b ~ V * ~ A?J'ii I .JI..jj ~ J4:1 ~.Ji ~.J\.i.a-) 4<l6;.,J\ o_J.illl ~LUi (8u-w 
Q8) The consumed power in an ohmic resistance carrying current I due to applying a 

potential V across it is directly proportional to: 

A. 0i c. y-t D. y2 
--------------------------------------------------------------------------------------------------------------------------------

:~.J~ ~I .J~ r ~1~1 ~.Jt:i.JI ulJ 12 V ~ ,J~ ~_,:; .l.ic. 5 Q 4..4.J~ 2 A .J\..jj y ljj (9u-w 
Q9) If a current of 2 A is passing in a 5 n resistor when it is connected to a battery of 12 V, 

the internal resistance of the battery equals: 

A. s n B. 10 n c. 2.s n D. 1 n 
------------------------------------------------------------------------------------------------------------------~-------------

:~.J~ ~yJI oyl~~ _)WI I )~I~ (lOu-w Ia ... ~ ---11-'-~---.... · b 

QlO) The current I passing through the given circuit equals: 

A. -1 A 
C. -3.33 A 

B. -0.33 A 
D. 6A 

?aP ---------------------------------------------------------------------------------------~~~~---------~~-~~~~-:-~~ 
0.. 



--------------------------------------------------------------------------------------------------------------------------------

l».l ~~'-'.Jul.! 20 v c.;.J'i..-: 10 n ~.J\iJ' ~~ ~ ~~ '-'.J u\.S ljJ ,~yJI ~~ ~ (ll(j'l 
. l....w & b · .. -:L-.::Ij .l.j.J ,a ~ 

Qll) In the given figure ifthe potential difference on the 
10 Q resistance is 20 V, the potential difference 
between the points a & b equals: 

A. 12 V 

c. 120 v 
B. 20V 

D. 220 V 

100 Q 
b 

100 Q 
10 0 ...___.\,1\1\1\.--' 

--------------------------------------------------------------------------------------------------------------------------------

:c.;.J'i..-: J.-yJI 1~ J_,.b ul.! 6 mN ~~ J.-yJI ~ oji_;.JI ~Ui.JI o_,ill w.i\.S ljJ (12(Jo'l 
Q12) If the magnetic force acting on the conductor in the figure is 6 mN, 

the wire length equals: 

A. 1m B. 75cm 

X 

X 

X X 

I= 3 rnA 

X X 

C. 50 em D. 30cm 

X X B = 4T 

X X 

2 mT ~~ J~ .J 10 N/C cs.~ ~ ~ o.l.c~ ~ 4.c. ~ u.Jfil ~ _p.:i ljj (13(Jo'l - -
:c.; .J'~ u.Jfi'i' 4.c. Y" ul.! 

Q13) If an electron moves with a linear speed perpendicular on both electric field 10 N/C 
and magnetic field 2 mT, the speed of the electron equals: 

A. Zero B. 0.2 mm/s C. 1 m/s D. 5 km/s 

~~ ~ .l.c~ 5 T ~~ J~ ~ 6 ~m o~ u..-.i c;y\:J .J~ ~ u~ ~ ~_p.:; ljJ (14(Jo'l 
:t.S.J~ !!._ ul-! 18 km/s ~)~ ~ 4.c.~ , m 

Q14) If a charged particle moves in a circular path of radius 6 ~m in a perpendicular 

magnetic field of 5 T with linear speed of 18 km/s, then !!._ equals: 
m 

A. 5x109 C/kg B. 1.7x10-9 C/kg C. 0.6x 109 C/kg D. 2 C/kg 

o4=ij ~ 60° ~.JIY. ~ 25 m T ~~ ~ ~ 8 x1 06 m/s ~ 4.c. ~ u.Jfil ~ _p.:i ljj (15(Jo'l 
:c.;.J~ U.Jfi'il t.J~ )~ u\..9 'A.t:. yJI 

Q15) If an electron moves with a linear speed 8 x106 m/s in magnetic field 25 mT directed 
at an angle of 60° to the speed, the acceleration of the electron equals: 

B. 30 xl 015 m/s2 C. 16.6 x1 012 m/s2 



Answer Table: 

1 2 

8 9 

Phvsical Constans 

k= 9x109 Nm2/C2
, 

mp= 1.67 x 10-27 kg, 

10 

3 4 5 6 7 

11 12 13 14 15 

- 8 8 x o- 12 C21 2 c0 - • 5 1 N m, lei = 1.6 X 1 o-19 C, 

me = 9.11 X 1 o-Jl kg, f.lo = 4n X 1 o-7 Tm/A 
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